Sr Questions Answers Choice

A Sieg

2 du“‘-‘ [FQIS lldLA:‘lll Ll

3 = O S sy o8 S (B deal s (el e il (S Y0,

4 8 G (e IS S 2 same S (50l o (S K Y,

oA ) s
) ) el
cladlan sl s K
Gldlaa gl 52 )

5 LS o) o e (seme S S 5 86 590,

1929 1918 ©
1998 2024 u
1929 1990 &
1930 2000 U

6 s ) 8BS Y,

i P IPA TP PENIEEN
sae

i

= oae plle

7 deuﬁgwé)auaéﬁiué)@i))\la_

cld
O
. }Y 3
J\;j

8 5 S palai LS e il oSl o B palas € ISE Y,

BRI
G Y0
os¥aad
(B " J\gﬁ

9 —eidal 8 K8 Y,

Ll e

Al Carla

s
S

S gl s
S i Cirla
‘)‘)S.I_i;\a..h.a
S gple

10 = NS Ol g 5 e b JLedi b g0 S Ll S (e gy el b e e,

DO®mP» DODP DOmF DO@mP 00mr U0mP UO0mF 00mr U0UP 000

11 O bl 5 sine gz ) (il wbaa,

s e
dhc“‘ﬁé}‘
e O

2 5ol

12 WS o g S el

Gl ye

r’f'““‘r‘
LPpws

13 2855 S e 08 peclis Y e
L sk z se

Diass (Jd sk 7 5
s 7 5a
Cipara sk 7 5

14 o5 Sos S S sl

= 09
O3

o 050 S
et

15 Woe o) S Ses Sl ol S

ODOW» UOW » UOWr DOEP» UOW»






